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SM 86.1.18 M 1,6
Widerstand/Ph 2,9 Chm
g Induktivitit/Ph 6 mH
e
Isolierstoffklasse F N
Schrittwinkel 18° £ 3%
Haltemoment 1,3Nm
__ Eglgtt;sﬁt"l-oment 0026Nm
g; glt:)r(tf1r§quenz 1knz
-:E:J: 'I\Bﬁé‘at)r(i;i:?sfrequenz 10 kHz
E E‘:grjwréhsmoment 0,65 kgem?
%UJ Is_liglarbelastung 180N
#ﬁgglrbelastung 280 N
Gewicht 1,7 kg
geat;i.ebstemperatur 1o e

STOGRA ANTRIEBSTECHNIK GMBH

Machtlfinger Strasse 24
D-81379 Minchen

Tel.: +49-89-15904000
Fax.: +49-89-15904009
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SM 86.1.18 M 3
Widerstand/Ph 0,72 Ohm
g Induktivitdt/Ph 1.6 mH
P
2 | bipolar 42A
Izolierstoffklasse F
Schrittwinkel 18° 3%
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SM86.1.16 M5

Widerstand/Ph . 0,28 Ohm

=

§ induktivitat/Ph | 07 mH

2 | Strom/Ph :

g -unipolar 5A
Strom/Ph

g b_ipplar 7A
Isolierstoffklasse F
Schrittwinkel 18° + 3%
Haltemoment 1.3Nm
Seibst- ‘
haltemorment 0,026 Nm

< | Max 1,8

§ Startfrequenz 1,45 kHz
Max 1,8

% Betriebsfrequenz 20 kHz
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Lagerbelastung
radisl 280N
Gewichi 1,7 kg
Betriebstemperatur o
X, 10°C
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